> A
A & 0l & AF 2 E A A
20199 = 20la LB A JIEISESIH 3=
SN WBFsAD
HE: AZXSIMAKD
ool MsH HAE 2E (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
T =0 130,048,401 118,933,608 11,114,793
= 90,707,930
s 18,048,000
J| 485,040
< 20,807,431
AMEgNSZHEH LD 104,729,812 95,339,174 9,390,638
= 86,407,930
s 96,000
J| 485,040
< 17,740,842
AsdE HAA 2= 7,830,700 1,200,000 6,630,700
sy 2483 XA 320,000 0 320,000
307 21201 A 20,000 0 20,000
02 QB AAHFEE 20,000 0 20,000
oz s 43t & AHEA X 20,000
308 X EHHSOIA 300,000 0 300,000
01 HIXNHHNBMNEELES 300,000 0 300,000
fs NS A=W N 300,000
datZa JpZelme 2= 400,000 0 400,000
403 MHXISHHS =0l & 400,000 0 400,000
01 XM A=2EE 400,000 0 400,000
ozEZH JtzZet 2H 400,000
2y ZECOXC Oig 2 AEZFEN XS 21,000 0 21,000
308 XX EHHSOIA 21,000 0 21,000
01 AXHHILEES 21,000 0 21,000
O 23y AZETY XA 21,000
=sUIIAFNES 1,260,000 0 1,260,000
308 MtXIEHSOIH 1,260,000 0 1,260,000
01 HXNHHBHELS 1,260,000 0 1,260,000
O=sHIGAZNES 1,260,000
EsUIIAHEN=S 2,400,000 1,200,000 1,200,000
308 XX EHHSOIA 2,400,000 1,200,000 1,200,000
01 HXNHHBHNEELES 2,400,000 1,200,000 1,200,000
OL=sYIIAFXINES 2,400,000
A=Y Es 282,000 0 282,000
308 XXM SO A 24,000 0 24,000
01 IXNSHHBNEES 24,000 0 24,000
22833 24,000
403 A X EHS =0l A 258,000 0 258,000




SN WBFsAD
HE: AZXSIMAKD
Sl AsF HAE 7S (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 HXSHMA2E X 258,000 0 258,000
O&EIAYIIBEY 78,000
OMYUMBHSHX=H 180,000
ZEAY MX SEAE X 150,000 0 150,000
403 UHXSHHSA=0l& 150,000 0 150,000
01 X HHMA=ZLE L 150,000 0 150,000
OZAMY MIEHALE XA 150,000
AR HE & IISAE S 300,000 0 300,000
403 XSS =0l & 300,000 0 300,000
01 X SHMA2E X 300,000 0 300,000
OAMXR MZ 2 JIZAIE U3t 300,000
LA FAX BSHLA TR 52,500 0 52,500
308 XXM S0 A 52,500 0 52,500
01 IXNHHBENEES 52,500 0 52,500
OL3 X =LA BSe XA 52,500
NZX HEZLSEZH KA 48,000 0 48,000
403 A X EHHS =0l A 48,000 0 48,000
01 X SHHXA2E= 48,000 0 48,000
OMZ X HBSEMLdEEH X 48,000
MNZXH HEZ OtMSS HolueE AIEX& 75,000 0 75,000
403 MHXSHHSA=0l& 75,000 0 75,000
01 X ESHMA=2E L 75,000 0 75,000
OMZA HEZ OFMS2 ToiMg AEXR 75,000
253 X MEAE ZH X 52,200 0 52,200
403 MtXISHH S0l & 52,200 0 52,200
01 XM A2E X 52,200 0 52,200
OE=& =&KX MEAE ZH & 52,200
Jte AXOH 2==Ald SXNEFAY 200,000 0 200,000
403 MtXISHHE X201 E 200,000 0 200,000
01 XM A=2EE 200,000 0 200,000
OJtE AEUHHl 2==AlE RAEFALY 200,000
2 I8 SEUHH(SY)ALY 2,270,000 0 2,270,000
403 Ut E X201 H 2,270,000 0 2,270,000
01 X SHHX2E= 2,270,000 0 2,270,000
Og JI2Uy SEUH(SY) A 2,270,000
dEdsd 84 23,625,322 24,507,930 A 882,608
= 20,227,290
s 96,000




FAN: HEIsS
HE: AZXSIMAKD
Sel: HBPSY S4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 69,640
< 3,232,392
SIEHZE XNE(22) 16,577,120 16,577,120 0
= 14,801,000
=) 1,776,120
308 XX EHHSOIA 16,577,120 16,577,120 0
= 14,801,000
< 1,776,120
01 HIXNHHBNEES 16,577,120 16,577,120 0
I Eblg32 16,577,120
= 14,801,000
= 1,776,120
ELMNEH XA (=2) 4,561,110 4,561,110 0
= 4,041,490
< 519,620
308 XtXIEHH SOl A 4,561,110 4,561,110 0
= 4,041,490
< 519,620
01 AXHHIYEES 4,561,110 4,561,110 0
OEL NS M 4,561,110
= 4,041,490
= 519,620
Aetdsg NP2AE(=2) 144,000 873,000 AT729,000
s 96,000
< 48,000
403 UM S X201 & 144,000 873,000 AT729,000
s 96,000
< 48,000
01 X HHMA=2LE L 144,000 873,000 A729,000
OFSASY XXM 144,000
ras 96,000
< 48,000
A= E(=1) 1,161,000 1,640,000 A 479,000
= 1,161,000
308 XXM SO A 1,161,000 1,640,000 A 479,000
= 1,161,000
01 HIXNHHBNEES 1,161,000 1,640,000 A 479,000
oredsgy AFX=H 1,161,000
= 1,161,000
e siE RSE435 179,200 185,500 A 6,300
202 (44l 10,000 10,000 0
01 = LH o4 1l 10,000 10,000 0
oFsASY SHYL =7 10,000
308 AHAIEHHSOIA 54,000 54,000 0




SN WBFsAD
HE: AZXSIMAKD
ool HEASY 54 (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 54,000 54,000 0
ozZessdEs TEMWAE 54,000
403 MHXISHE X201 E 115,200 121,500 A 6,300
01 X SHHAN2E= 115,200 121,500 A 6,300
oz EdsttE B2S=F[AE - ZHXNA 25,200
OxEIstE SSHEH EXXE 90,000
Ed=sgy DB EHF 116,400 120,300 A 3,900
403 XSS A0l & 116,400 120,300 A 3,900
01 *XSHMA2EE 116,400 120,300 A 3,900
oOrEd=sy ANEAACR =4 57,600
ORII=sbtE8 HM=x - IHBAME X 58,800
detd sIAM 2= 290,250 61,200 229,050
308 AXIEHHSOIA 290,250 61,200 229,050
01 HXNHHNBHELS 290,250 61,200 229,050
OXEE s 2= 290,250
dEtdsgy =2 181,200 127,200 54,000
307 glz2tol & 30,000 30,000 0
04 QIZFHALAIH 2 = 30,000 30,000 0
OXEASNS BrEs 30,000
308 XXIEHHSOIA 151,200 97,200 54,000
01 AXHHILEES 151,200 97,200 54,000
OHBAEME AS=XY| 144,000
OzEZMd=YY MRz FENSB 7,200
RIN=gXM X3 (=21) 324,510 362,500 A 37,990
= 223,800
< 100,710
308 XXM SO A 324,510 362,500 A 37,990
= 223,800
< 100,710
01 IXNHHBANEES 324,510 362,500 A 37,990
ORJIIsXtM XA 324,510
= 223,800
< 100,710
ZESBEBIMAMAL SUE(21) 90,532 0 90,532
J| 69,640
< 20,892
403 A X EHS =0l A 90,532 0 90,532
J| 69,640
< 20,892
01 X EHHMA=ZLE L 90,532 0 90,532
OZSHZEIHIYAAIL S 90,532
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2AN: s
BHu: AYXNSHMH D
SRl AAY HAMHA 2G5 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
oz =& 21,600
= 21,600
HE A2 2L H| (K AHHM)XK(=21) 48,000 46,000 2,000
= 48,000
308 XX SHAMSOIA 48,000 46,000 2,000
= 48,000
01 HXHHNIMNEXS 48,000 46,000 2,000
oAdsd=2e|dl (KAA) X 48,000
= 48,000
=EHES THHH X R AL (2D) 6,906,488 5,754,432 1,152,056
= 6,424,640
o= 481,848
308 XX SHHSOIH 6,906,488 5,754,432 1,152,056
= 6,424,640
o= 481,848
01 AXHNBMNEXZ 6,906,488 5,754,432 1,152,056
OMMAMITAEM X 6,906,488
= 6,424,640
& 481,848
HAZHEANE X2 (21) 324,000 99,000 225,000
=2 270,000
= 54,000
403 XX S S K201 A 324,000 99,000 225,000
= 270,000
= 54,000
01 XHNMAHEBEE = 324,000 99,000 225,000
OH 22X - MEAIE K& 324,000
= 270,000
o= 54,000
RPC =& - =282 - H&E 39,000 0 39,000
= 30,000
& 9,000
308 AKX SHHSO0IA 39,000 0 39,000
= 30,000
& 9,000
01 AXHHIMNEXS 39,000 0 39,000
ORPC = - =282 - 2448 39,000
= 30,000
= 9,000
MASEHDIANEXNES(Z21D) 34,364,000 35,190,900 A 826,900
= 34,364,000
308 XX S M SO0l & 34,364,000 35,190,900 A 826,900
= 34,364,000
01 AXHNBNMNEXZ 34,364,000 35,190,900 A 826,900
OMASEENNANEINES 34,364,000




SN eSS
BHu: AYXNSHMH D
el mAe AW s CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| = 34,364,000
HANEZ HHZH XNB(22) 280,400 293,300 A 12,900
J| 280,400
308 AHAIEHHSOIA 280,400 293,300 A 12,900
J| 280,400
01 AXNSHBLAEES 280,400 293,300 A 12,900
oOMXN=z HFHH XN 280,400
J| 280,400
L2 MADIEH =M 13,197,884 10, 185,640 3,012,244
= 11,928,000
J| 135,000
< 1,134,884
FTACHE &&= 33 M 304,884 393,780 A 88,896
202 Od4dl 4,000 4,000 0
01 = LH o4 1l 4,000 4,000 0
OFTAIIS 2XE W =1 4,000
308 XtXIEHH SOl A 300,884 232,980 67,904
01 AXHHILEES 300,884 232,980 67,904
ONEEZ A H B X & 48,384
OZXZIEHE AHES XA 200,000
OL3ZTAN 3 =4 52,500
gsdAE3(=22) 11,928,000 9,500,000 2,428,000
= 11,928,000
308 XtXIEHHSOIA 11,928,000 9,500,000 2,428,000
= 11,928,000
01 HXNHHBHELS 11,928,000 9,500,000 2,428,000
OgsgA=H 11,928,000
= 11,928,000
gsgAE2a #AHY XA (=12) 135,000 170,000 A 35,000
J| 135,000
202 O4dl 11,000 13,000 A 2,000
J| 11,000
01 = LH 4 bl 11,000 13,000 A 2,000
OEsg A=SAY =2 11,000
J| 11,000
308 XXM SOIA 124,000 157,000 A 33,000
J| 124,000
01 AXHHILEES 124,000 157,000 233,000
Og=g ASAY(HIH) X 124,000
J| 124,000
S =+ 780,000 121,860 658, 140
308 MHXIEHSOIH 780,000 121,860 658, 140




2N
X ZH -
L= B

el

ne Jx

Rl
SEEEEEY In]
X2 A8 FH

SA - ZE-B(EA) - NRAY - B S il &t o il RS2
01 AXSHHBLEES 780,000 121,860 658, 140
O=&x2MAEE K& 600,000
OsJIHESe2E N3 180,000
IS sats e RIEdH2 X 50,000 0 50,000
308 A EHHSOIA 50,000 0 50,000
01 HXNHHNBHELS 50,000 0 50,000
ONSTE st2 M |FIIEHZE X 50,000
sZJIHE & AS0HE 16,982,150 15,651,272 1,330,878
= 13,075,000
< 3,907,150
A= ES(Z2) 11,502,750 9,807,000 1,695,750
= 10,955,000
< 547,750
308 XX EHSOIA 11,502,750 9,807,000 1,695,750
= 10,955,000
< 547,750
01 AXNSHHBLAEES 11,502,750 9,807,000 1,695,750
OxH=EelNIAXFZI=H 11,502,750
= 10,955,000
= 547,750
SIHAHLUHAIE A (=21) 2,400,000 3,000,000 A 600,000
= 2,000,000
< 400,000
403 MHXISHE X201 & 2,400,000 3,000,000 A 600,000
= 2,000,000
< 400,000
01 XM A=2EE 2,400,000 3,000,000 A 600,000
OsIIHS ALY 2,400,000
= 2,000,000
< 400,000
sIHSS 2,658,350 2,440,000 218,350
202 04l 6,500 6,500 0
01 = LH YI 6,500 6,500 0
sIIAHE 2 ASHFEFA 6,500
308 XX EHHSOIA 1,794,000 1,770,000 24,000
01 HXNHHBNEES 1,794,000 1,770,000 24,000
O=gE BHAHMs 2Hl K& 1,650,000
QU=IIH =228 XN 144,000
403 XA SA=0l& 857,850 663,500 194,350
01 XM A=E X 857,850 663,500 194,350
O=JIHLHALSY RI&A 474,000
OUgE=JIH dUXNA 474,000




SN eSS
BHu: AYXNSHMH D
Sl SeIINE U LSO (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O04 - 24X o1AZ2 HHXA 128,850
O=g&E E8 JUXE 75,000
OsJIH 23 243 N 180,000
D=0 &AL X3 247,050 230,272 16,778
308 XXM SO0l A 247,050 230,272 16,778
01 IXNHHBNEES 247,050 230,272 16,778
OngdE=Yel /YL XA 247,050
SIHSEHEX 2RI (21) 174,000 174,000 0
= 120,000
< 54,000
308 XXIEHH SOl A 174,000 174,000 0
= 120,000
< 54,000
01 AXHHILEES 174,000 174,000 0
O=gYIlH SSHEX XA 174,000
= 120,000
< 54,000
SSMADIEE XS 25,120,500 23,395,000 1,725,500
= 4,300,000
s 17,952,000
< 2,868,500
HEA E=ISHMA =E 12,881,500 8,683,000 4,198,500
= 4,300,000
s 6,475,000
< 2,106,500
Hi=JH& (= 10) 4,000,000 4,000,000 0
= 4,000,000
402 RI2EX20| ™ 4,000,000 4,000,000 0
= 4,000,000
02 It 2 AL EZ (OIS ) 4,000,000 4,000,000 0
Obi==IHH 4,000,000
= 4,000,000
St HHl EML(=2) 300,000 300,000 0
= 300,000
403 UtXSHHSA=0l& 300,000 300,000 0
= 300,000
01 XM A2E X 300,000 300,000 0
Ot il S 300,000
= 300,000
I ZMEQIHARZ S2MY)(=21) 2,300,000 286,000 2,014,000
s 2,300,000
403 XSS AE201 & 2,300,000 286,000 2,014,000
as 2,300,000




FAN: HEIsS
A =AMATIY EA
Sl SN BABIMA =Y (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HXSHMA2E X 2,300,000 286,000 2,014,000
OJZMEQZHARRSESESMNY) 2,300,000
s 2,300,000
JIZMEQITH (XN E+EZME)(21) 2,339,000 1,974,000 365,000
s 2,339,000
403 MtXISHHE X201 & 2,339,000 1,974,000 365,000
ras 2,339,000
01 XM A2 X 2,339,000 1,974,000 365,000
OJI=MECNZH(RESE2ZMY) 2,339,000
s 2,339,000
I ZME0 I H(sEsMEESINLY)(Z1) 1,836,000 380,000 1,456,000
s 1,836,000
403 A X EHHS 20l A 1,836,000 380,000 1,456,000
s 1,836,000
01 X HHMA=LE L 1,836,000 380,000 1,456,000
OsEsgdEE=IHE 1,836,000
s 1,836,000
eSS IISHBEAS 260,000 160,000 100,000
403 XSS A=0l& 260,000 160,000 100,000
01 HXSHMA2E X 260,000 160,000 100,000
OEAZE IISUHHAY 160,000
ot 2ENY 100,000
THEEorE AF2EXICH (M =X ) ol A& CH =K 426,000 260,000 166,000
403 A X EHHS =0l A 426,000 260,000 166,000
01 X HHMA=LE L 426,000 260,000 166,000
OL=EM=X & E= -2 426,000
=S MADBFEHIALS 1,420,500 1,283,000 137,500
202 O4dl 18,000 18,000 0
01 = LH 4 4l 18,000 18,000 0
OsZdaI|egt FHAY 2RFA 18,000
403 MtXISHHE X201 E 1,402,500 1,265,000 137,500
01 AXSHMA=2EE 1,402,500 1,265,000 137,500
O=Y eI BHE I 1,402,500
S MADIBE FH| 12,239,000 14,712,000 A2,473,000
s 11,477,000
< 762,000
golgt Hul(=22) 6,799,000 6,600,000 199,000
s 6,325,000
< 474,000
403 XIS E X201 & 6,799,000 6,600,000 199,000
s 6,325,000




SN ASYSAD
Ha: SAMMI|E EH
Helr sgdadiet (&)
SN FH-SA(EN) - MBAY - BES 0l &k o4 il HlnE2
=) 474,000
01 AXISHHA=2E = 6,799,000 6,600,000 199,000
OgJlegr i 6,799,000
s 6,325,000
< 474,000
=& 2X&e(=2) 1,087,000 1,612,000 A 525,000
s 1,011,000
= 76,000
403 A X EHS K= 0l A 1,087,000 1,612,000 A 525,000
s 1,011,000
< 76,000
01 X SHHA2E= 1,087,000 1,612,000 A 525,000
oti== AXAHel 1,087,000
s 1,011,000
< 76,000
A2 HHSIME(=1) 3,052,000 2,224,000 828,000
s 2,840,000
< 212,000
403 UHXSHHSA=0l& 3,052,000 2,224,000 828,000
s 2,840,000
< 212,000
01 HXSHMA=E X 3,052,000 2,224,000 828,000
OAFE HisIHH 3,052,000
s 2,840,000
S 212,000
I ZMEIIIHSERZEELE)(Z1) 1,030,000 1,823,000 793,000
as 1,030,000
403 MtXISHHE =01 & 1,030,000 1,823,000 A793,000
s 1,030,000
01 X SHHA=2E = 1,030,000 1,823,000 A793,000
OJIAstdaZ &xF 1,030,000
s 1,030,000
SEEXNGNLOIASEIHZSHEE)(Z D) 271,000 2,453,000 A 2,182,000
s 271,000
403 A X EHS =0l A 271,000 2,453,000 A 2,182,000
s 271,000
01 XXM 22 = 271,000 2,453,000 A 2,182,000
OJIHstE&Z &L F 271,000
as 271,000
HE2HAZH (HSE =) 43,589 40,434 3,155
Jl=&l 43,589 40,434 3,155
FAN2EII23H 43,589 40,434 3,155
201 et 28,589 26,034 2,555




SN WBFsAD
HE: HYSYAH (B
ch: JI24dd| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| H| 28,589 26,034 2,555
EM2Y AtR22/H| 28,589
202 044 11,400 10,800 600
01 2L Y| 11,400 10,800 600
OFMSY =20 11,400
203 &R F & 3,600 3,600 0
04 FEASHEYFFAH| 3,600 3,600 0
©20Q! 0o|ot 3,600
HEess(2atdsd ) 154,500 159,000 A 4,500
WEHeH IES(0£2 2elSas) 154,500 159,000 A 4,500
2 EsSHE 0|8 =4 154,500 159,000 A4 ,500
705 Ol==dc 34 154,500 159,000 A 4,500
03 Al - EXYHED IS0 =224 150,000 150,000 0
OZXNAZTH OlMEH 150,000
04 Al - SXYHED| S0 £=20| Xpatst 4,500 9,000 A4 500
OXXNIABH 0l&8XTH 4,500




